SCIENTIFIC PAPERS

Ergodic theorem for the two-dimensional super-Brownian motion with super-Brownian immigration*

HONG Wenming (洪文明)

(Institute of Mathematics, Fudan University, Shanghai 200433, China)

Received January 20, 1999; revised May 28, 1999.

Abstract By investigating the related nonlinear equation, the ergodic theorem is obtained for the super-Brownian with super-Brownian immigration in two dimension.

Keywords: super-Brownian motion, immigration, ergodic theorem, evolution equation.

Super-Brownian motion with super-Brownian immigration (SBMSBI) was firstly studied by Hong and Li^[1]. They established the (weak) central limit theorem for dimension $d \ge 3$, and obtained, as a consequence, the weak ergodic theorem (law of large number). But they did not give the result for d = 2. In this paper, this case (d = 2) is discussed, and by investigating the related evolution equation, a weak ergodic theorem for the SBMSBI is obtained.

Let $C(\mathbb{R}^d)$ denote the space of continuous bounded functions on \mathbb{R}^d . Fix a constant p>d and let $\phi_p(x)\colon=(1+|x|^2)^{-p/2}$ for $x\in\mathbb{R}^d$ and $C_p(\mathbb{R}^d)\colon=\{f\in C\ (\mathbb{R}^d)\colon |f(x)|\leqslant \mathrm{const}\cdot\phi_p(x)\}$. Let $M_p(\mathbb{R}^d)$ be the space of Radon measures μ on \mathbb{R}^d such that $\langle \mu,f\rangle\colon=\int f(x)\mu(\mathrm{d} x)<\infty$ for all $f\in C_p(\mathbb{R}^d)$. Endow $M_p(\mathbb{R}^d)$ with the p-vague topology, that is, $\mu_k\to\mu$ if and only if $\langle \mu_k,f\rangle\to\langle \mu,f\rangle$ for all $f\in C_p(\mathbb{R}^d)$. Throughout the paper, λ denotes the Lebesgue measure on \mathbb{R}^d .

Suppose that $W = (w_t, t \ge 0)$ is a standard Brownian motion in \mathbb{R}^d with semigroup $(P_t)_{t \ge 0}$. Firstly recall the SBMSBI briefly (see ref. [1]). Let $\gamma := \{\gamma_t, t \ge 0\}$ be a continuous $M_p(\mathbb{R}^d)$ -valued function, $X^{\gamma} := \{X_t^{\gamma}, t \ge 0, P_{\lambda}^{\gamma}\}$ the super-Brownian motion with immigration rate γ , is given by the Laplace functional^[2,3]:

$$P_{\lambda}^{\gamma} \exp(-\langle X_{t}^{\gamma}, f \rangle) = \exp(-\langle \lambda, v(t, \cdot) \rangle - \int_{0}^{t} \langle \gamma_{s}, v(t-s, \cdot) \rangle ds), f \in C_{p}^{+}(\mathbb{R}^{d}), (1)$$

where $v(\cdot, \cdot)$ is the unique positive mild solution of the evolution equation

$$\begin{cases} \dot{v}(t) = \Delta v(t) - v^2(t), \\ v(0) = f. \end{cases}$$
 (2)

^{*} Project supported by the National Natural Science Foundation of China (Grant No.19671011), the Research Fund for the Doctoral Program of Higher Education and the Mathematical Center of the Ministry of Education.

The so-called SBMSBI is the super-Brownian motion with random immigration, where the immigration rate is determined by the trajectory of another super-Brownian motion. For details, one can construct a probability space (Ω, \mathcal{F}, Q) on which the processes $\{\rho_t : t \ge 0\}$ and $\{X_t^\rho : t \ge 0\}$ are defined, where $\{\rho_t : t \ge 0, P_\lambda\}$ is a super-Brownian motion with $\rho_0 = \lambda$ and, giving the trajectory $\{\rho_t : t \ge 0\}$ for P_λ -a.s., the process $\{X_t^\rho : t \ge 0, P_\lambda^\rho\}$ is a super-Brownian motion with immigration determined by $\{\rho_t : t \ge 0\}$, which is called SBMSBI with $X_0^\rho = \lambda$ and,

$$Q(\,\boldsymbol{\cdot}\,):=P_{\lambda}\{P_{\lambda}^{\varrho}(\,\boldsymbol{\cdot}\,)\}\,=\,\int\! P_{\lambda}^{\varrho}(\,\boldsymbol{\cdot}\,)\,P_{\lambda}(\mathrm{d}\rho)\,.$$

Then from (1) and the representation for the occupation time of super-Brownian motion^[4], the Laplace transition functional of the SBMSBI X^{ρ} under the law Q is

$$Q\exp(-\langle X_t^p, f \rangle) = \exp(-\langle \lambda, v(t, \cdot) \rangle - \langle \lambda, u(t, \cdot) \rangle ds), f \in C_p^+(\mathbb{R}^d),$$
 (3)

where $v(\cdot, \cdot)$ is given by (2) and $u(\cdot, \cdot)$ is the unique positive mild solution of the evolution equation

$$\begin{cases} \dot{u}(t) = \Delta u(t) - u^{2}(t) + v(t), \\ u(0) = 0. \end{cases}$$
 (4)

Now, the main result can be obtained.

Theorem 1. Let d = 2, then as $T \rightarrow \infty$

$$T^{-1}X_T^{\rho} \to \xi \cdot \lambda \text{ weakly (with respect to } Q)$$
,

where ξ is a non-negative, infinitely divisible random variable whose Laplace transform is given by

$$Q\exp\{-\theta\xi\} = \exp\{-\langle \lambda, w(1, \cdot; \theta)\rangle\}, \tag{5}$$

where $w \equiv w(t, x; \theta)$ is the mild solution of the evolution equation

$$\begin{cases} \dot{w}(t) = \Delta w(t) - w^{2}(t) + \theta p_{t}(x), \\ w(0) = 0. \end{cases}$$
 (6)

Now we proceed to the proof of Theorem 1. Let $v_T(t,x)$ be the mild solution of the equation

$$\begin{cases} \dot{v}(t) = \Delta v(t) - v^{2}(t), \\ v(0) = T^{-1}f. \end{cases}$$
 (7)

In the following lemmas, we consider $f \in C_p(\mathbb{R}^d)^+$ such that $\langle \lambda, f \rangle = 1$.

Lemma 1. Let d = 2, then we have

$$\lim_{T\to\infty} T^2 v_T (Tt, T^{1/2}x) = p_t(x),$$

where $p_t(x)$ is the transition density function of the Brownian motion.

Proof. In this and the following proofs, C will denote a constant which may take different values in different lines. The mild form of (7) is

$$v_T(t,x) = P_t(T^{-1}f)(x) - \int_0^t P_s v_T^2(t-s,\cdot)(x) ds.$$

Then

$$v_T(Tt, T^{1/2}x) = P_T(T^{-1}f)(T^{1/2}x) - \int_0^{Tt} P_s v_T^2(Tt - s, \cdot) (T^{1/2}x) ds, \qquad (8)$$

note that d=2, we can calculate that as $T \rightarrow \infty$,

$$T^{2}P_{Tt}(T^{-1}f)(T^{1/2}x) = T\int p(Tt, T^{1/2}x, y)f(y)dy$$

$$= T\int (2\pi Tt)^{-1}\exp\left\{-\frac{(T^{1/2}x - y)^{2}}{2Tt}\right\}f(y)dy$$

$$= \int (2\pi t)^{-1}\exp\left\{-\frac{(x - T^{-1/2}y)^{2}}{2t}\right\}f(y)dy$$

$$\Rightarrow p_{t}(x)\langle\lambda, f\rangle = p_{t}(x).$$

On the other hand, for any $f \in C_p(\mathbb{R}^d)^+$ we have

$$||P_s f|| \leq C \cdot (1 \wedge s^{-d/2}),$$

it follows that

$$T^{2} \int_{0}^{T_{t}} P_{s} v_{T}^{2} (T_{t} - s, \cdot) (T^{1/2} x) ds$$

$$\leq C \cdot T^{2} \int_{0}^{T_{t}} P_{s} [P_{T_{t-s}} T^{-1} f]^{2} (T^{1/2} x) ds$$

$$\leq C \cdot P_{T_{t}} f(T^{1/2} x) \cdot \int_{0}^{T_{t}} (1 \wedge (T_{t} - s)^{-1}) ds$$

$$= C \cdot T^{-1} \int_{0}^{T_{t}} (1 \wedge s^{-1}) ds \int (2\pi t)^{-1} \exp \left\{ -\frac{(x - T^{-1/2} y)^{2}}{2t} \right\} f(y) dy$$

$$\to 0.$$

Combining with (8), the desired conclusion is reached.

Lemma 2. Let d = 2, $w_T(t, x)$ be the mild solution of the equation

$$\begin{cases} \dot{w}_{T}(t,x) = \Delta w_{T}(t,x) - w_{T}^{2}(t) + T^{2}v_{T}(Tt, T^{1/2}x), \\ w_{T}(0) = 0. \end{cases}$$
(9)

Then $w(t,x) := \lim_{T\to\infty} w_T(t,x)$ exists and, is the mild solution of the equation

$$\begin{cases} \dot{w}(t,x) = \Delta w(t,x) - w^{2}(t,x) + p_{t}(x), \\ w(0) = 0, \end{cases}$$
 (10)

and the limit taken in $C([0, +\infty), L^2(\lambda))$ and pointwise.

Proof. The mild form of (9) is

$$w_T(t,x) = \int_0^t P_{t-s}(T^2 v_T(Ts, T^{1/2} \cdot))(x) ds - \int_0^t P_{t-s} w_T^2(s, \cdot)(x) ds.$$
 (11)

It can be verified that $\{w_T\}_{T>0}$ is $L^2(\lambda)$ -Cauchy. Let $T_1, T_2>0$, then from (11), ones have

$$| w_{T_1}(t,x) - w_{T_2}(t,x) |^2 \le 2 \left(\int_0^t P_{t-s} [w_{T_2}^2(s,\cdot) - w_{T_1}^2(s,\cdot)](x) ds \right)^2$$

$$+ 2 \left(\int_0^t P_{t-s} [T_2^2 v_{T_2}(T_2 s, T_2^{1/2} \cdot) - T_1^2 v_{T_1}(T_1 s, T_1^{1/2} \cdot)](x) ds \right)^2.$$

But from (8), one can see

$$T^2 v_T(Tt, T^{1/2}x) \leq T^2 P_t(T^{-1}f)(T^{1/2}x) \leq (2\pi t)^{-1}$$

So the limit in Lemma 1 is taken in $C([0, +\infty), L^2(\lambda))$ and pointwise. Combining this, the remaining proof is similar to Proposition 3.9 in ref. [5]; firstly, we can prove that the limit w(t,x) exists in $C([0, +\infty), L^2(\lambda))$, then, the limit is taken in pointwise and satisfying (10), finally, the mild solution of (10) is unique. The detail is ommitted.

Lemma 3. $\lim_{T\to\infty} \langle \lambda, w_T(t,\cdot) \rangle = \langle \lambda, w(t,\cdot) \rangle$, for $t \ge 0$.

Proof. The mild form of (10) is

$$w(t,x) = tp_t(x) - \int_0^t P_{t-s} w^2(s,\cdot)(x) ds.$$
 (12)

Then from (11) and (12), we have

$$\langle \lambda, w_T(t, \cdot) \rangle = \int_0^t \langle \lambda, T^2 v_T(Ts, T^{1/2} \cdot) \rangle ds - \int_0^t \langle \lambda, w_T^2(s, \cdot) \rangle ds, \qquad (13)$$

and

$$\langle \lambda, w(t, \cdot) \rangle = t - \int_0^t \langle \lambda, w^2(s, \cdot) \rangle ds.$$
 (14)

By Lemma 1 and Lemma 2, the two terms in the right side of (13) converge to that of (14) respectively and, the desired conclusion is reached.

Proof of Theorem 1. The Laplace functional of $T^{-1}X_T$ is

$$Q\exp(-T^{-1}\langle X_T^p, f\rangle) = \exp(-\langle \lambda, v_T(T, \cdot) \rangle - \langle \lambda, u_T(T, \cdot) \rangle ds), \quad f \in C_p^+(\mathbb{R}^d), \quad (15)$$

where $v_T(\cdot, \cdot)$ is the mild solution of (7) and $u_T(\cdot, \cdot)$ is the mild solution of the equation

$$\begin{cases} \dot{u}_{T}(t) = \Delta u_{T}(t) - u_{T}^{2}(t) + v_{T}(t), \\ u(0) = 0. \end{cases}$$
 (16)

Define w_T by $w_T(t, X) := Tu_T(Tt, T^{1/2}x)$, then from (16), w_T satisfies

$$\begin{cases} \dot{w}_{T}(t,x) = \Delta w_{T}(t,x) - w_{T}^{2}(t) + T^{2}v_{T}(Tt, T^{1/2}x), \\ w_{T}(0) = 0, \end{cases}$$
(17)

and

$$\langle \lambda, w_T(1, \cdot) \rangle = \langle \lambda, u(T, \cdot) \rangle.$$
 (18)

In the case $\langle \lambda, f \rangle = 1$, by Lemma 2, the limit $w(t, x) := \lim_{T \to \infty} w_T(t, x)$ exists and is the unique positive mild solution of the equation

$$\begin{cases} \dot{w}(t,x) = \Delta w(t,x) - w^2(t,x) + p_t(x), \\ w(0) = 0. \end{cases}$$
 (19)

For the unnormalised case, we can replace f with θg , where $\theta > 0$ and $\langle \lambda, g \rangle = 1$, and arrive at

$$\begin{cases} \dot{w}(t,x) = \Delta w(t,x) - w^{2}(t,x) + \theta p_{t}(x), \\ w(0) = 0. \end{cases}$$
 (20)

On the other hand, from the mild form of (7), we have

$$\langle \lambda, v_T(T, \cdot) \rangle \leq \langle \lambda, P_T(T^{-1}f) \rangle \rightarrow 0,$$
 (21)

as $T \rightarrow \infty$. Combining (18), (21) and Lemma 3 with (15), ones obtain that

$$\lim_{T\to\infty} Q\exp(-T^{-1}\langle X_T^\rho, f\rangle) = \exp(-\langle \lambda, w(1, \cdot; \theta)\rangle), \qquad (22)$$

where $w(t, x; \theta)$ is given by (20). So we get a limit of $T^{-1}X_T$ as a random positive functional on $C_c(\mathbb{R}^2)^+$, I(f), say, whose Laplace functional is given by (22). By the extension Riesz representation theorem^[6], there is a unique random measure μ on \mathbb{R}^2 , such that $I(f) = \langle \mu, f \rangle = \xi \langle \lambda, f \rangle$, where ξ is a non-negative random variable whose Laplace functional is given by (5). The infinite divisible property of ξ can be derived from its Laplace functional (see ref. [5]).

Furthermore, we have

Theorem 2. Let d=2, then as $T \rightarrow \infty$

$$T^{-1}X_{T_t}^{\rho} \rightarrow \xi_t \cdot \lambda \quad weakly$$
,

where ξ_i is a non-negative increase stochastic process such that

$$Q\exp\{-\theta\xi_t\} = \exp\{-\langle\lambda, w(t, \cdot; \theta)\rangle\},\,$$

where $w(t, x; \theta)$ is the same as Theorem 1.

Combining Lemma 2, the proof is similar to theorem 3 in ref. [5], the detail is ommitted.

Acknowledgement The author would like to thank Profs. Wang Zikun, Li Zhanbing for their guidance and encouragement, and Prof. Li Zenghu, Dr. Rong Yianxia for valuble discussions.

References

- 1 Hong, W. M., Li, Z. H., A central limit theorem for the super-Brownian motion with super-Brownian immigration, *Journal of Applied Probability*, 1999, 36(4), to appear.
- 2 Dawson, D. A., Measure-valued Markov processes, in Lect. Notes. Math., Berlin: Springer-Verlag, 1993, 1541, 1.
- 3 Li, Z. H., Wang, Z. K., Measure-valued branching processes and immigration processes, Adv. in Math. (in Chinese), 1999, 28(2): 105.
- 4 Iscoe, 1., A weighted occupation time for a class of measure-valued critical branching Brownian motion, *Probab*. Th. Rel. Fields, 1986, 71: 85.
- 5 Iscoe, I., Ergodic theory and a local occupation time for measure-valued critical branching Brownian motion, Stochastics, 1986, 18: 197.
- 6 Yuan, J. A., Measure and Integration (in Chinese), Xi'an; Shanxi Normal University Press, 1991.